1. Model 1:
                                                           Because of

Because                                              Due to

As                 + clause                        Owing to                                   + Noun/ Gerund

Since                                                  As a result of

                                                           On account of 

Ex: 

a. Because she behaves well, everybody loves her

      Because of her good behavior, everybody loves her

b. As  he has behaved badly, he must be punished

Because of his bad behavior, he must be punished

c. I couldn’t come because of his serious illness.
Because ……………………………………………………………….

d. My father retired last month because of his illness.

Because ……………………………………………………………….
e. Tom eats very little so as not to put on weight.

Tom eats very little because……………………………….…………

f. Because his mother was there, I said nothing about it
Because of…………………………………………………………….

g. My sister gets high pay because she works well.

My sister………………………. because of ……………………

2. Model 2




Ex: 

a. The box was too heavy for the child to carry

      The box was so heavy that the child couldn’t carry it

      It was such a heavy box that the child couldn’t carry it.

b. These questions are too difficult for us to answer.
These questions ……………………………………………………….

c. He spoke too quickly for me to understand.

He spoke………………………………………………………………

d. The tea was too hot for him to drink.

It was …………………………………………………………………

e. The air is too polluted for us to breathe

The air …………………………………………………………………

f. The furniture was too expensive for me to buy

The furniture was………………………………………………………

3. Model 3



Ex: 

a. Mary is too young to get married

Mary isn’t old enough to get married

b. The tea wasn’t cool enough for her to drink

The tea was too hot for her to drink

c. The garden is too small to play football in.

The garden isn’t ………………………………………………………………….

d. Unfortunately my stay here will be too short for me to visit many of the tourist attractions.

Unfortunately I shan’t ………………………………………………………..

e. This raincoat is too small for him to wear.

f. The raincoat isn’t …………………………………………………………….

g. The weather is too bad for us to go for a picnic

The weather is not ……………………………………………………………

h. Tom is not tall enough to reach that picture.

Tom is ………………………………………………………………………..

4. Model 4



Ex:

a. This question is easy enough for us to answer.

This question is so easy that we can answer

It is such an easy question that we can answer.

b. The box was light enough for him to carry
The box ………………………………………………………….

c. The work is hard enough for him to ask his friend for some help

The work ……………………………………………………….

d. This song is simple enough for het to sing

It is ………………………………………………………………

The song ………………………………………………………..

e. The film was interesting enough for us to see twice

It was…………………………………………………………….

The film was……………………………………………………..

5. Model 5



Ex:

a. Tom and Mary have been married for five years

It is five years since Tom and Mary got married

b. I haven’t seen my father for one month.

It’s one month since I last saw my father

c. Tom has not had his hair cut for over 3 months.

It is…………………………………………………………….

d. My father  hasn’t been to Ha Noi for two years

It is ……………………………………………………………..

e. It haven’t enjoyed myself so much for years

It is …………………………………………………………….

f. I haven’t eaten this kind of food for two years

It is …………………………………………………………….

g. Mary hasn’t rung for hours.

It is ……………………………………………………………….

6. Model 6


Ex: 

a. He started working for this factory a year ago

He has been working for this factory for a year.

He has been working for this factory since last year.

b. Tom began playing the piano 4 years ago

Tom has …………………………………………………………

c. I stared cooking for the party 4 hours ago

I have ……………………………………………………………

d. My father is reading a newspaper. He started 2 hours ago

My father has ………………………………………………….

e. My sister  began to study English a year ago

He has …………………………………………………………

too + Adj + for ……………… to inf





……. So + adj


…… such ( a/an + adj) + N         + that ……………





too + adj ……………………. to inf





not  + adj + enough + (for) + to inf





adj + enough + for ………… to  inf





….. so + adj 


….. such  (a/an + adj) + N              + that


…..








S + V (present perfect, negative) ….. + time





It is + time …….+ since ……..+ V (past)





S + V (past) …. ago





S + have / has been + V-ing + since (for)…..








